. B AZ / Components | (x®&2 : TY-34)2008.02.08
PHR / External View No. ®# / Part name ¥}E / Pcs & / Material . xmEMNHE / Color- Finish
1 by 7HN— / Top cover 1 ABSEtRE / ABS AJ{NT V- / White gray
2 |K7+«— / Base 1 ABSEtRE / ABS AJ4NT V- / White gray
3 W=7 / Roof 1 ‘K / PVC AD4NT b=/ White gray
L [T A7y + / Gasket 1 AU7b3y / Polyurethane 73y / Black
5 |7y # / Lafch 3 A7Vb% / Stainless steel #A18 / Unfinished
SL—% L / Without reof unit 6 (FMERERAMTA L A (M5 x 10) 6 K = fi70x-h
Y Screw(M5 - 10) Steel Trivalent chromate
"""""" il e " T |SMNERELAT R 6 ATIbR I8
Mounting brackef Stainless steel Unfinished
8 |Emiff~—-2AKAMS x 10) 6 $k = ffi90x-h
Screw(M5 - 10) Steel Trivalent chromate
______ TN WT—% / Technical Data
—————— = — 5 o REZ4E / Protection class IP65
. S BRAEE#E / Operating temperature [ -10C ~ +60TC
WM 25 A/ Flammability class UL94HB
730 188 2
662
““““ 626 i
156.5 156.5 156.5 156.5
1L m LU
(@]
=
LN | <o [@N]
O | M -
LN | N =
N
<

6-M54 - hFoh

6-M5 Insert nut

LT.5
oI
No)
Ii
L Nﬁ m
O | A .
o~ | ) @B /Title N\ —
! — BASHINFERIE B5K BAEE I — 7 £ ABST 5K )3 O L
6_M5471j_ I\T‘)I\ I TAKACHI ELECTRONICS ENCLOSURE Co., LTD. IP65 ABS PLASTIC BOX with OUTDOOR ROOF
6-M5 Insert nut KRB /Approved | &R /Checked | #E/Created 3% /Product number RE/Scale1.8
- BCAR507018G ‘
b i L 2 "/
fEpB /Date  2021/06/04




[(x®m&= : TY-34)2008.02.08

AR / Internal View

MARBRIZIEL—TEFHITTOEEA,
Drawing does not include roof unit.

HF £ — (80 55— (4
Base (Internal View) Cover (Internal View)
7130
[ M [
‘e 3 o o |
l\
~
-
3 2> E
\ -6
o J (. J . >
M I o
LN N s N\ e >
~
3 & o #H
+
1<
s
S= T S
6-M5475-rFoh 6-M54I4-hFyh
6-M5 Insert nut o= Insertnuf
NE
NG
=
£
é — N
> —~ =
~
jﬂ' ! N, A T, i/n_"n
2 2% /Tifle
= = A = - o\
pa BAIUIDFERIR B5K -B5EE v — 7 £t ABST 55 v)3 O L4
AT E /Max dim. 6717 TAKACHI ELEGTRONICS ENCLOSURE Co. LTO IP65 ABS PLASTIC BOX with OUTDOOR ROOF
I I &R /Approved | ¥ /Checked | #E/Created [&% /Product number R}%/Scale1.8
- BCARS507018G ‘
013 D 5 >/
R B /Date 2021/06/04




	BCAR507018 Model (1).pdf
	BCAR507018 Model (2).pdf

